Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

50, will be treated as malpractice.
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Define CAD and CAM. Briefly
automation.

[llustrate the followin
(1) Production capact
(1) Work in process N
(1) TIP ratio

A batch manufa@&‘ing plant must be

xplain the features of legd automatlon and programmable

- é (06 Marks)

athematical models:

(06 Marks)
ed through 7 machines. There are 30 new

batches. A e operation time is 8 min. | rage setup time is 2 hours and non-operations

time is . Average batch sizecis 15 parts. Number of workstations is 10. The plant

operatés, for' an average of 125 /week. Determinefmanufacturing lead time, plant

capac d utilization. N (08 Marks)
R OR * @ A

What are automated ﬂowﬁ? With sketches, explain Inline and R@ type of automated

flow lines. Py P ¢ (08 Marks)

Describe the methods gf control of an aut 0
The following data-applies to a 12 station™s
cycle time is 0.3 min and repair tim
following:

(1) Frequeney of line stops/cycle
(i) Ayerage production ratc

(06 Marks)
p,= 0.01 for all the stations,
pund approach, compute the

(111) %&;ﬂfﬁcwncy (06 Marks)
(08 Marks)
(06 Marks)
(06 Marks)
; (06 Marks)
With block diagram, explam vanant type of CAPP system (08 Marks)
What is shop floor contra Btiefly explain the various phases of shop floor control.
(06 Marks)
| Module-3
With neat sketchics, explain the types of FMS layouts. (10 Marks)
Explain in briefwith diagram the structure of Automated Storage and Retrieval System.
o . (05 Marks)
List the advantages of Group Technology. (05 Marks)
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OR
a. Illustrate the following terms with reference to Ling w cing:
(i) Minimum rational work element
(ii) Precedence diagram
(iii) Balance delay > (06 Marks)
b. In a plant, a product is assembled as per wing data. Assume ime as 16 min:
Work element | 1 [2] 3 [4[ 5 | T8
T, (min) 105 813 o B ) ¢
Precededby | - |-|1,2]2 413,67 :

(i) Construct precedence dia,

(i) Determine the number AbiOnS required to balance tﬁgﬁé’me by using LCR method.

A (14 Marks)

Module-4
a. Briefly explain the classi fications of CNC system. (06 Marks)
b. Write anote on ¢ ius compensation. £_ £ (06 Marks)
c. Write the part for the part shape sHoWn in Fig.Q7(c). Assume suitable machining

parameters. 4 &
b “ ‘

ions are:i (08 Marks)

<V OR w
a. ¢ configurations ofIndustrial Robot. (12 Marks)
b. used in Induq@ Robot. (08 Marks)

Module-5
izatioh process. (10 Marks)
sition Modeling Technique. (10 Marks)
OR
QI (10 Marks)
facturing as applied to Industry 4.0. (10 Marks)
* %k ok ok K
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